HARHEDIE e LHEFE z = x + iy (0, y 1ZFE)ITHLT, e DEFRECRZKR TERT D!
e? =e*(cosy + isiny).
ZoLE, ZABEKROMEER
sin(x + y) = sinx cosy + cosx siny
cos(x +y) = cosxcosy F sinxsiny
X0, zy =x; +iyy, z; = x, + iy, (x1,%5, V1, Vo (FFEH)ITHLT
e?1t%2 = eM1%%2(cos(y; +y2) + isin(yy + y2))
= e*1e*2(cos y, cosy, — siny, siny, + i(siny; cosy, + cos y; siny,))
= e*1e*2(cosy, + isiny;)(cosy, + isiny,)
= eZ1p%2
F o THEFEHOFREITI L THIREIERIA ALY L.
z=x+iy % 5 WX 2z° =1 0EET 5L,
z5 = eS¥*i5Y = 5% cos 5y + ie5¥sin5y = 1
/N
e>* cos5y =1, e5*sin5y =0

L% InEWIET X,y &, x=0, y= 0,2?”,4?”,6?”,8?”. FoThHE 2 1%

2k 2k
zZ= cosT + isinT (k=0,1,2,3,4).



